DISCIPLINA: PORTUGUES | PROF: PERIODO: / A /

ALUNO : TURMA: DATA DE
ENTREGA ____/

82 ANO INGLES - 1° trimestre

A) Depois que Kim conheceu Tommy, ela escreveu para ele uma mensagem na
Internet. Leia a mensagem de Kim e preencha o formulario sobre ela.

Hi, Tommy! My full name’s Kim Kyoto, but everybody calls
me Kimmy. (that's my nickname). I'm twelve years old. 'min
sixth grade at the International School. | have some friends at
school.

| have one sister and one brother. My brother's name is
Ken and my sister's name is Ruth. Ken is ten years old and he's
in fifth grade. Ruth is thiteen and she's in eighth grade.

My grandfather and my grandmother aren’t from the
United States. They are from Japan. My grandfather's name is
Ronin Kyoto and my grandmother's name is Nahoko Kyoto. My
parents are American and | ‘'m American too. My father's
name is Takai and my mother’'s name is Candy. My address is
nine-oh-three Green Street and my phone number is double-
five-six, eight-oh-two. Would you like to be my friend ¢

Associe as colunas de acordo com o texto:
1) Where Kim’'s grandparents from ? % They are from Japan.
She is 13.

He is in 8th grade.

2) What is Kim’s parents nationality? >
3) Who is Kim's brother ? *x
4) How old is Kim'’s sister ? Yes, she is.
5) What grade is Ken in? No, she isn't.
6) Is Kim Japanese?

7) Is Ruth in fifth grade?

They are Japanese.
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Ken.
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B) Complete the Kim's family tree according to the text : (Escrever os nomes)

1 2)

3) 4)

5) KIM 6)

C) COMPLETE THE SENTENCES WITH THE NAMES ACORDING TO THE FAMILY

TREE USING THE GENITIVE CASE () : PREENCHA AS SENTENGAS COM OS NOMES DE ACORDO COM A
ARVORE FAMILIAR USANDO O CASO GENITIVO ():

a) Roninis father.

b) Ken, Kim and Ruth are grandchildren.

c) Takaiis son.

d) Kimis sister.

D) COMPLETE THE SENTENCES USING THE CORRECT POSSESSIVE ADJECTIVE :

HIS - HER - THEIR

1) Ronin is Kim’s grandfather. = Ronin is grandfather.

2) Nahoko is Ken, Ruth and Kim’s grandmother. = Nahoko is grandmother.
3)Kimis Ken’s sister. =» Kim is sister.

4) Candy is Takai’'s wife . Candy is wife.

F) CIRCLE THE CORRECT WORD TO COMPLETE THE SENTENCES :

1. Thorisa ( child - children ).

2. The President is a very important ( person - people ).
3. Brazilians are friendly ( person — people ).

4. Bart, Lisa and Maggie are Homer's . ( children - childrens )
5. Miss Rivers isa happy ( woman - women ).

6 . These are Chinese ( girl — girls ).
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G) WHATTIME IS IT ?
a)( ) Itis half past four.
b)( ) Itis a quarter past four

c)( )Itis aquarter to four.

d)( ) Itistwenty to four.

H. A hora “ It’s twenty-five to twelve.” é :

a)( )12:25 b)( )11:25 c)( )11:35 d)( )12:35

1) OLHE AS IMAGENS E ASSOCIE AS RESPOSTAS QUE COMPLETA AS LACUNAS :

anr

US$ 50,25 US$ 25,50 USs$ 30,12 US$ 12,30

1) A: the shirt? * * How much are /

B: They are fifty dollars and twenty five-cents
2)A:  theshorts? * * How muchit/

B: It is thirty dollars and twelve cents.
3) A: the skirt? * * How muchis /

B: They are twenty-five dollars and fifty cents
4) A: the shoes? * * How much are /

B: They are twelve dollars and thirty cents
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